
MIS-stage
MIS age base 

(years)

t-test p-value 

(paired data)
t-test conclusion

MIS 1 11000 0,006 different 

MIS 2 24000 0,102 not different

MIS 3 60000 0,295 not different

MIS 4 71000 0,365 not different

MIS 5 130000 0,852 not different

MIS 6 190000 0,094 not different

MIS 7 244000 0,398 not different

MIS 8 301000 0,000 different 

MIS 9 334000 0,383 not different

MIS 10 364000 0,040 different 

MIS 11 427000 0,000 different 

MIS 12 474000 0,167 not different

MIS 13 528000 0,056 not different

MIS 14 568000 0,617 not different

MIS 15 621000 0,284 not different

MIS 16 659000 0,011 different 

 


